UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

KOO8 Y

NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 26.08.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places

‘5 Tiptiptap OU

%, = = ouU Veetorni 9, MATERIAL: A

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 1 OF 9




1 2 3
. 5868 _
I
) ]
~O ¢ o
™ L — ] L — (@)
L —— — ] — — d o0
N N
|| i
|
6576 _
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE N KLOGRAMM KOO8 Y
NAME SIGNATURE DATE REVISION
DRAWN|  M.Rebase 26082015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 2 OF 9




4
A
- 5868 -
A
B
)
o
N
A
+ +
Y
c o o
o o
®) a0
™ N
_V_
Y
- 3360 3360 _
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KLOCRAMM KOO8 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 26.08.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TP Ti ptiptap® ju aievik Rae vaia, wood, metal, plastic A4
Ap :
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 3 OF ¢




A
o~
3 9
o
e
N = o
] * _ ~ ~ B Y 4 ) \
. 6576 _ 2536
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KLOCRAMM KOO8 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 26.08.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:70 SHEET 4 OF ¢




ITEM

PART NUMBER

DESCRIPTION

QTY.

NO.
1 |beam 76x2860 galvanized steel 2
2 |side fixture plastic 2
3 |post 98x98x2720 laminated wood 4
4  |post 98x98x2695 lominated wood 2
5 |seat complect with fixings rubber compound with 4

aluminium insert

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:
KOO8 Y

DRAWN M.Rebase

26.08.2015

APPV'D

AP

A Tiptiptap®”

Tiptiptap OU
Veetorni 9,

JUri alevik, Roe vald,

75301 Harjumaa

DESCRIPTION:

Swing construction BELL-FLOWER 4 places

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:50

SHEET 5 OF 9




2300

)
@) @)
(@] (@) !
< N \\
B Y I | _ _ _ _
/ \\ I
A Y NI
ground Y B 3
\
‘.5-}- | I |
D
concrete 200 _
E
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KLOGRAMM KOO8 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 26.08.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places
?‘.P‘ T- t- t oU Tl\/pélg’:gr?“(gy MATERIAL: .
P IPUPTAP  Jori alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:25 SHEET 6 OF 9




post

ground
/ fixing

~— ITEM
NO.

PART NUMBER

1 |bolt DIN603 M12x120

2 |nut cover M12
3 |nut DIN985 M12
4 |nut cover cap M12

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM KOO8 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 26.08.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:10

SHEET7 OF 9




6\%\3& R
—
o o o @
DETAIL B
SCALE 1:20
B
ITEM
6 11 3 NO. PART NUMBER
\ L x 1 bolt DIN931 M10x130
0ot 2 |bolt DIN931 M10x140
3 |washer M10 ©
4 |nut cover M10
5 |nut DIN985 M10
DETAIL A 6 |nut cover cap M10
SCALE 1 :20 . .
7 |side fixture
WEIGHT ARE IN KILOGRAMM KOO8 Y
oo B Swing construction BELL-FLOWER 4 places
‘5 ) Ti\?’rierTop'%U
(L] = H , MATERIAL:
-?rﬂP Ti ptlptapOU J0ri oéﬁk%@e vald, wood, metal, plastic A4
1 2 A.P 75301 Horjumoa WEIGHT: | SCALE: 1:60 SHEET 8 OF 9




nut DIN985 M]Q\
\ o°

DETAIL C
SCALE1:20

vEAY

I

/

seat complect with fittings

domed cap nut DIN1587 M10

L

nut DIN985 M12

0

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM KOO8 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 26.08.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER 4 places
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

wood, metal, plastic A4

WEIGHT: | SCALE: 1:50 SHEET 9 OF 9




	Sheet1
	Drawing View13

	Sheet2
	Drawing View14

	Sheet3
	Drawing View15

	Sheet4
	Drawing View16
	Drawing View17
	Drawing View18

	Sheet5
	Drawing View19

	Sheet6
	Drawing View20

	Sheet7
	Drawing View21

	Sheet8
	Drawing View22
	Detail View A (1 : 20)
	Detail View B (1 : 20)

	Sheet9
	Drawing View25
	Detail View C (1 : 20)


